Z:\Clients\Endura PERMANENT\B - Texas Dept of ins\TDI - DR-608 Therma-Tru Flush Glazed\Drawings\TX-4218-19, 22.dwg

POWERED Bvlﬁ

ENDURA

DOOR COMPONENTS MADE IN THE USA

Glazed Fiberglass Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS TD l D R - 60 8

The Fiberglass Door system described herein complies with the 2018 Intemational
Residential Code (IRC), Sections R301 & R609 and the 2018 International Building
Code {IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following
conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the
design pressure rafing shown in the design pressure chart, sheet 1 of this

4. drawing.
Conditions not covered by this drawing are subject to further engineering
analysis.
TABLE OF CONTENTS
SHEET# | DESCRIPTION

1 Typical elevations, design pressures & general notes
Lock details (Hoppe HLS 9000}

Door/Sidelite panel details (Fiber Classic - flush glazing)
Door/Sidelite panel details (Smooth Star - flush glazing)
Horizontal cross sections

Vertical cross sections

Vertical cross sections

Frame anchoring

W N[N

112.38" MAX. OVERALL

e LY

SNy

e X SR s ¥
S inl sk
S T,
';5\:“ SO::(Y)
b ig f OB
et iuig
i 13 M [ )
}\5—‘" :ZEW
XA 1O
Y, i8]

HS i Z

IR R

FRAME WIDTH

g 2

0z 2=

Tz =@

g2 ¢3

5= 08 X O
xE X \a
<O <0

ST =@

= - I

Dw oy

-2 8=

czoE é

OXO

FIBER CLASSIC

+45.0

-45.0

SMOOTH STAR

+30.0

-30.0

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Vairico FlL. 33585
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F-11852

ENDURA
TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

PRODUCT:

LFS | PART OR ASSEMBLY:

LF:
BY

REVISIONS

11/11/21|UPDATE TO 2018 IBC/IRC CODE
1/08/14 |ADDED ARTICULATING SILL

NOJ DATE

[s¥1 A

DATE: 9/06/12

scAE:  NLT.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—-4218

SHEET _1 oF _8




"IN BANVATINSNODG SNIOTUNG ‘M'¥ 2102 @

St sl o e (00ge s 300 g S ol R,
—! i ©
L6L6°6S9'CLE I'ON SUOUd TS 55 T S41 TS ONLLYINOILYY g3aav|+L/80/1L ] | N n_b VJA M NN__ .
GBGCE ™4 OOMIPA 0CZ Xog .o.m\h\Nug S47] 3000 2dI/081 810z OL ivadnliz/iLi1/1i] 2 % = | ©
"ONI "SINVLINSNOD ONIGTINg N N.nw | 2“
VNAN3 ol |&|&|g X
£ZLPOLF ‘I'd SVXAL i ol x|Z B
T'd IPIMIUDS 3 uOopukl Ag peundedd sjuswunsoq L10NA0Nd S W w w 5
STEY Fo WSTT
- :_.Q.m
@
=
{ | TN m X
{ L >
fx
)

1.7
©
¢]
1 ©
LATCH & DEADBOLT STRIKE PLATE

TII
%5
V4
Ol =
ol8 S
el in o
=5 ! w
£~ - >4
o3 oz
N 2o = 2 : C—) e
o s
T..Uu <2 fﬂ Aw\ Z
M m * e O
7 i 900 —=|] _ o6 &
7 ol S =
a1 O LSV =
o= =
I
[
~
—
p
o)
Q.
5
=
20 w
a2 Ly
SO0l 50 >
¥ Q <
<C
L
O
=
O
o
= = n.|lhiﬂullnlllllll _.ﬁlu
}
O
€Z
2
|t IHOMEH 31ANVH = o
O
et IHOEH TIV3IA0 - Wu
T
—t
<
- }
z
<
=

BMp'ze '61-8L2r-X1\sBumeIQ\paze|D ysni4 nij-eunsy L §09-4d - IQL\sUl JO 3daq sexal - \LNINVINYIAG BINPUI\SIUBIDO\Z



ON| SANVYLINGNDOD aNIging "My 210e o]

ZSBL1l—1 # NOLVMISIOZN 40 ILVOIIILNIFO _ SNOISIATY
SYIINIONI TWNOISSZJOud 40 Q¥vOE SvXAL amwﬁ.ngmm@@ o m‘mﬁwﬁWw&wﬂb Ad 31vd_[ONIev| | |es 8_
1616659°C18 FON uoUd i S41 TS ONUVINOILYY a3adv] v1/80/1 | 1 || vi|XS|w| R |
S6GEE 14 OSWIPA OFZ Xo8 'O'd \SVMW ‘ATBN3SSY ¥O 1dvd 1S47| 3000 0¥1/281 8102 0L 3i1vadniiz/LL/iLL] ¢ © M =1, Q|
‘ONI ‘SINVLINSNOD ONIgHNg e g v_A 3~

o 1&]&]e
SZTLHOLF "3'd SvXA VINAN3 " w ol o z ~ "
I'd IPIUIYDS 4 uopukl 1Ag pedtndsid sjuswunsog 1ONaoNd 218 W 5 W 5
I2 0y

W60 _

INTERIOR

_.All....wl «£6'0

——1.75" —=]

.

/" 2"\ VERTICAL CROSS SECTION

(074
°F S iz
=3 z o w =3
OO 5 £ Z sO
== o i w E o oL
T oz =z o~
<Z O S =
GM CUF m
& in 2%¥
a5 OOW
[¥ g e
.llll:mN._.II',
2
¥ E w i@
- I
u Al o) HS3 &5 EHG
= \‘\\\\ L ” Uam m n.mam
~ 1 >
ry o Nﬁb M
[ [Z¢ ]
. 2 2 s .
3w yr 23 B
Qo B M vA:v Q
S 2 2
Q ~N
! <
(U}
(K5 -
2 ®
S »
e
2 o
7 O S
(7] [a'4 =
o S< [
O O O o Z
& o = -
L
= 2 B
n /4 i =
/ ®)
N
oL
O
e

(1N
3/

Flush glazed
{fiberglass)

l E 3 }
X
>
THERMA TRU - Fiber Classic Panel

b
= T
<5 %8 IHOEH 'O Ta
2z =z - g T
E\/ o == XYW ,1€'€9

xz 20
W= 8 & =
=3 IHOEH TANVd
w O 4000 XV .90°6/
QO
£

Bmp 2z '6L-8Lzy-X1\sBUMBIQ\PSZRID Ysni4 NiL-BunayL 809-¥d - IQL\su] JO 1daq sexaL - \LNINVINUId eINPUI\SIUBIO\Z



3.94"

EXTERIOR

1.18"

ot ] _68" ]

7%

A\

\ LATCH STILE

35.81" MAX.
PANEL WIDTH

26.0" MAX
D.L.O. WIDTH

(WOOD/LVL)

79.06" MAX. DOOR

PANEL HEIGHT
63.31" MAX
D.L.O. HEIGHT

/"1 \ HORIZONTAL CROSS SECTION

k
’
I
<<<‘2::~
o

. 9/16' GLASS

BITE

EXTERIOR

THERMA TRU - Smooth Star Panel

11/16" THK. GLASS

1/8" TEMPERED
7 Giass

/i

Al

Re—— AIRSPACE

T /8" TEMPERED

GLASS

ALUMINUM SPACER
QSO SEALANT

Flush glazed
{fiberglass)

@ GLAIZING DETAIL

.\_-».)..\:‘\.\‘\.\1\1\
-4——]68"———-&— hé::;\:k*.sgg &f
' SR P
E o i=E ™
TOPRAL | F& S,
(COMP.) - ﬁuf% HZEN
p’ O (Wi
Aust iz il
!}\p;:... ::O : ~
FIBERGLASS SKIN L S S i 2
(.075" MIN.) o D xin ety
\ © Madest™
/
/4
/i
/4
EXTERIOR INTERIOR
FOAM CORE
(POLYURETHANE - ™
1.9 PCF MIN.)
i
~
BOTTOM RAIL <
(COMP.) ™

@ VERTICAL CROSS SECTION
4

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By
WPhone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

Lo
)
aN
Ba
a
15
LT b
27
§ <
s OO
2 > i
Q o Wi
Z = I:-Q’.
e} ] ~J<
0] Ly
0 Qun
. DL
.
g 1828
2 % S5
n. 0. ~
(%3}
>..
2112
Ly
o
S
G
O
e
NI
Sl o
] R e
=l O
®I3| @
N 2]
N 5 éu
o b
@
:<
=i
Lif
Sia
alo
Si<
bt 03
N Aand
ALNH
NP
SO
-2
oaTE: 9/06/12
scale:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4218

SHEET 4 oF 8

ZA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-608 Therma-Tru Flush Glazed\Drawings\TX-4218-19, 22.dwg

© zo12z R.W. BUILDING CONSULTANTS ING.



. Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-608 Therma-Tru Flush Glazed\Drawings\TX-4218-19, 22.dwg

/1

SRR
5"":}3' -
S i B
7 ST i
EXT. SHEATHING | 2747 51
SIDELITE PANEL ' 7 MNIBIR S
> GO T
EXTERIOR St iz a
otk el e o SR SOt SO oo Soot e | .?Yz.. ig! -
/ R S~ ™ S - | {’ (..0’ 310 s &
: [N T b B
v Ny K yi>
[ 211‘%,*: i o
/ LI 11\1‘9‘:0"\'

2X FRAMING
e (G >=0.42)

075" —=—~] 15—
[
2 s| S
/
N YR 25"
JAMB / HEAD FATBOY MULLION
PINE PINE
NOTE:

1. Spacing for sidelite screws: 6.5", 38.5"
and 69" from head fo sill {3 total}.

(10
7 #8 X 2.5" COURSE THREAD J
Y O &/ DRYWALL SCREW _
(See Note ]) ASPSPLTELIEITILER S

// —| INTERIOR —
Vi | MULTLPOINT LOCKSET: AN / \- DRYWALL
/ HOPPE HLS 9000 TONGUE/SHOOTBOLT #10 X 2.5" PFH

1/4" MAX. WOOD SCREW
SHIM SPACE
< CORNER PADS (TYP.)
— m HORIZONTAL CROSS SECTION
3 w Outswing shown - Inswing also approved

4"HINGE

/ #8 X 1" PFH SMS

#8 X 3/4" PFH SMS
#8 X 2.5" PFH WOOD SCREW

SIDELITE PANEL —\
§%

DOOR PANEL LATCH STRIKE PLATE

#8 X 3"PFH W.
I 8X3 S

d AR AR A & rers
(RN
AVRRAY

A\
\\
A\

= seneny,
#8 X 2.5" COURSE THREAD _/ 'I( ERDURA WE@EESSZ%
DRYWALL SCREW DOOR PANEL SIDEUTE PANEL
(See Note 1) #8 X 2.5" COURSE THREAD
DRYWALL SCREW —
(See Note 1)

4-3/8" FATBOY PINE MULLION

4-3/8" FATBOY PINE MULLION __/

3"\ HORIZONTAL CROSS SECTION
W Qutswing shown - Inswing also approved

/"2 "\ HORIZONTAL CROSS SECTION
\y Outswing shown - Inswing also approved

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Vairico Fl. 33585
Phone No.: 813.659.9197

BUILDING CONSULTANTS, INC.
TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By

CERTIFICATE OF REGISTRATION # F—11852

ENDURA
Steel DOOR

HORIZONTAL
CROSS SECTIONS

PRODUCT:

LFS

LFS | PART OR ASSEMBLY:
BY

11/11/21|UPDATE TO 2018 IBC/IRC CODE
1/08/14 |ADDED ARTICULATING SILL

NOJ DATE

—

2

REVISIONS

DATE: 9/06/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX-4218

SHEET 5 oF _8

©zo12 R.W. BUILDING CONSULTANTS INC.



ZA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-608 Therma-Tru Flush Glazed\Drawings\TX-4218-19, 22.dwg

~— ] 2X FRAMING L W
> (G>=0.42) S oy
/ / 2 TS aﬁ:‘%‘k.-"::g : s )
# T gJ\’Y:“.“ 1= % z o b
S 15, & £* @ 2P
EXT. SHEATHING 1 = DRYWALL M ¥ au g oy
1 . 5 5 o i : wo = g Wb
- / 5 Ot i SEO
7111 - ¢‘U.l". EZ S y g 5 o <
o "82‘(;.‘: §8 i .'.T -g g 'g % 5%
L 4 #10X2.5"PFH QXS S Z L T 3388 8%
WOOD SCREW 515 Rl o {f
1/4" MAX. Triandee™™ 5 8]y &g
" 4
SHIMSPACE  ~___ v T 287 bu
__"0__ Z o o 3 . & QO
SO E § 5d2 B
OE & Do g <
- : D e
DOOR PANEL , 5 E
3
| ]
HEAD
ENDURA WEATHERSTRIP 0
(QEBD/PE 650) S
=
[
EXTERIOR W INTERIOR %
2 1.8
Xl ©
/ 1"\ VERTICAL CROSS SECTION = |85
w Outswing shown - inswing ol
also approved 23S
5 |3 E
(] - >
2 %
INTERIOR |0k pANEL EXTERIOR EXTERIOR /f INTERIOR EXTERIOR i INTERIOR [~ ;‘ T
L
ENDURA WEATHERSTRIP —k ==
(QEBD/PE 650) DOOR PANEL DOOR PANEL
ENDURA THRESHOLD ENDURA DOOR SWEEP \ ENDURA DOOR SWEEP _\
(Z-SERIES OUTSWING) (DBKR) (DBK-AC)
ZOBA4565FN {shown) ENDURA THRESHOLD ENDURA THRESHOLD l\ i; 0
(Z-SERIES INSWING ADJUSTABLE) A (Z-SERIES INSWING ARTICULATING) "W“F-‘j 5
ZAI4565FN (shown) ZAC4565FN (shown) ,{/E)‘ 7

07

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4" DeWALT OR
[TW CONCRETE SCREW

7“2\ VERTICAL CROSS SECTION

ST T

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4" DeWALT OR
ITW CONCRETE SCREW

7“3\ VERTICAL CROSS SECTION

w Outswing shown

\é/ Inswing configuration

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4" DeWALT OR
ITW CONCRETE SCREW

7“4\ VERTICAL CROSS SECTION

W Inswing configuration

11/11/21UPDATE TO 2018 IBC/IRC CODE
1/08/14 |ADDED ARTICULATING SILL

NO) DATE

2
1

DATE: 9 /06/12

scAle:  N.T.S.

CHK. BY: LFS

DRAWING NO.:
TX—4218

SHEET _6 oF _8

© 2012 R.W. BUILDING CONSBULTANTS INC.



'\.‘*"\?;:}}xllr{ls E 3
A i t =5
2X FRAMING £* wigi.dy, 22, g
y R TN EX 7 U8
(G >=0.42) EA TR A B £ 2 4o
ﬁ(u K H SR %;-. 0w o 53 [0) T
S pd SpieN 5 £ £ Gu
‘ v il LTI tutw ;ES L A
e )\ S5t YIS \Gi ey %§ g 0® 2
L et ‘:) % IZ 9 2 La 5 g
o 3 S, 10 2 §F BEEf8 =p
: . 4 ) {’3{%’-. ::% ': .'."ol(q"u - a g P’i Qg
DRYWALL i ] EXT. SHEATHING "his.:* R x 88% g8
o I\ N o x3 SF
' MU ® 23, Su
.:H,“ i“i g S_og DO
\l— #10x 2.5" PFH NOTE: g 2ok %
| :
1/4" MAX B it WOOD SCREW 1. Spacing for sidelite screws: 2 S mé
: i é" from each end (2 total}. ° &
SHIMSPACE L U I £ S go
LZg g
SHE
SIDELITE PANEL \ “J
o
#8 X 2.5" COURSE THREAD HEAD S
DRYWALL SCREW —— | g §s é%
(See Note 1) S 3|3 &,
l/ G 92 SA
INTERIOR EXTERIOR "9 &
£ o
8 o
/1" VERTICAL CROSS SECTION 8 e
w Inswing shown - Outswing also approved x g
INTERIOR A\ EXTERIOR g %
EXTERIOR INTERIOR W
I\ — SIDELITE PANEL \ S
SIDELITE PANEL \ ol
ENDURA THRESHOLD W/ SIDELITE SPACER Sk
#8 X 2.5" COURSE THREAD ¢ (Z-SERIES OUTSWING) ZOBAS65FN (shown] 48X 25 ENDURA THRESHOLD W/ SIDELITE SPACER Bl %
DRYWALL SCREW RS e . (Z-SERIES INSWING) ZAI4565FN (shown) NERE
(See Note 1) /; Z Rl &
g - (See Note 1) Z ‘ oSl ]
b WH=) 24/ Rl
o - BN 2l
s / N \\ 3|4
% NN 3k
< N NE
s z AN
= 4 18lz
S 23 NS
=
NEE
: ' #10 X 2.5" PFH WOOD SCREW
#10 X 2.5" PFH WOOD SCREW N 5,/06,/12
1/4" X 2-3/4" DeWALT OR 1/4" X 2-3/4" DeWALT OR she NTS
ITW CONCRETE SCREW ITW CONCRETE SCREW e
DWG. BY: JK
m VERTICAL CROSS SECTION VERTICAL CROSS SECTION cHK. B:  LFS
W Outswing configuration Inswing configuration DRAWING NO.:
TX—4218

SHEET _/ oF _8

Z:A\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-608 Therma-Tru Flush Glazed\Drawings\TX-4218-19, 22.dwg

© 2012 R.W. BUILDING CONSULTANTS ING.



ZA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-608 Therma-Tru Flush Glazed\Drawings\TX-4218-19, 22.dwg

SEE HINGE

DETAIL 1

\'

SEE HINGE

DETAIL 2

14
£5:%
x|

—]

8.34" FROM
TOP OF
DOOR PANEL

HINGE JAMB

CONCRETE ANCHOR NOTES:

-

66.84"

2X framing (by others)

6"

.
(TYP.) i‘* ¢
= [vp)
i

[\A

=

I 1

‘! [“ mPf

FLOOR SUBSTRATE MATERIAL (TYP.)
CONCRETE {MIN. 3000 PSl)

1. Concrete anchor locations at the corners may be adjusted to maintain the min.
edge distance to mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX, ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

CHOR | MIN 1 CE | MIN. CLEARANCE

. E | EMBEDMENT | TOADJACENT

S B B s S ANCHOR 27
. ’Tw 1" L Al H
DeWALT " it " L
ULTRACONE| 1/4 1-3/4 1 3

DETAIL 1
Integral mullion attachment

#8 X 3" COURSE DRYWALL SCREW

#8 X 1"PFH wsé

.[0\.0

/ #8 X 2-1/2" PFH WS

— #8 X 3/4" PFH W$
~— 4" X 4" HINGE

HINGE DETAIL 1

T 1
#10X 2.5 PFH \~ DETAL 1 \ DETAL 1 '
WOOD SCREW N .o
(TYP. @ HEAD DETAIL 2 N o
AND JAMBS) ‘
N
2
y
DETAIL 1 -\ DETAL 1 ‘
o L o A ,
) #10 X 2.5" PFH WOOD SCREW
#MP) = | == o rvpy 1/4" X 2-3/4' DeWALT OR
¢ TW CONCRETE SCREW
(TYP @ SILL)
WOOD (G >=0.42) FRAME ANCHORING
OXO

#8 X 1" PFH wsé

P #8 X 2-1/2" PFH WS

1] -
| 1©
R o Hlori=St= #8 X 3/4" PFH WS
4" X 4" HINGE
\\\
HINGE DETAIL 2

Aoy u
T e
o F oty ~ sz
- TR \9\9 ¢ <% v
o~ ot ., ‘( & R o
ZaXe s B O | R o a
S i 290N | Ex 9 W
et 5 : M 4 i) Z -
0 0im OLwdN G oR o~
= to oy wh ~ d " 21
L2 LE, 4 H S - (28 0 r4 ~ .
P i ERTIIE DI 4 u i W
5% isio W c &2 =
D, izi2 &9 §3 E o %
X7 L8 M B Zog 85
G, 101 0N 5 Hi3d ak
IAK TR D JIC P At = 585 0
llgzar 'sﬁrq?pm o2 W
: wn i 0 g0
h’&‘\.&}‘mﬂ*\"* & SR.. €0
O a‘m
o ng u
© Zwg Of
a 256 O
e 50¢ EE
& Boa Sk
23
5 k
®
E tl
3 éo
0
8
Shootbolt Strike Plate @
Head Jamb e
S
£ 5
N ..
14 >
Qo o=
L&D ~ I
[TY)
\ oS
B
5 5
S
#10 X 2.5" PFH WS = E
& <
DETAIL 2 o o
0|0l
L1%5im

11/11/211UPDATE TO 2018 IBC/IRC CODE
1/08/14 |ADDED ARTICULATING SILL

-

2

NOJ DATE

REVISIONS

DATE: 9/06/12

scale: - N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX-4218

SHEET 8 oF _8

© 2012 R.W. BUILDING CONSULTANTS INC.



